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E€VENING SESSION

1. THEFﬁEFORE is to TEEQOERFRH as HELICOPTER
istol _?
THEREFORE &T TEEOERFRH & @Y q9Y
& SN HELICOPTER I g6 d __?

(A) HELICORETP
(B) HLCPERTOIE
(C) RETPOCILEH
(D) RETPOCILHE
2. In H?ryana, on which occasion, Kothali gift is
given ?
gREwm # FUA 3R HFE IFE W
g S § 2
(A) Holi
aﬁ@-
(B) Teej
et
(C) Diwali
&rarelr
(D) Makar Sankranti
HE Gehlledd
3. Wth least number must be subtracted from
1936 so that the remainder when divided by 9,
10, |15 will leave in each case the same
remainder 7 ?
1936 & ¥ FleT & S ¥ DI VAT TS
et Forer s A v orr 9, 10, 15 & RismforeT
RT ST Y e Pty 3 FareT A9 7 9l 2
(A) 63
(B) 39
()44 |
(D) None of these / §T81 I SIS Tal
4. The} idol of Lord Vishnu laying on Sheshshayya
(snake with multiple heads) is found from
which place of Sonipat district ?
JuRRAr R W s fasp @ Ak
HiTa forer # Fel § 9o g8 © ?
(Aj)jGohanan

METAT

(B) Fajilpur
wIfSTrgR

2

(C) Kharkhauda
wI@ter

(D) Mohana

G

5. Select the substitution that best expresses
opposite meaning of the underlined word.
Some democratic countries believe in racial

segregation.
(A) subordination

(B) integration
(C) inferiority
(D) domination
6. Meningitis is a disease which affects the
AfeoTeRy T Faed THTadT T §
(A) Kidneys
CEED

<
(B) Liver
Johd

c

(C) Heart
gad

(D) Brain
AfeasH

7. Which of the following is known as a metal
rectifier ?

Rrifra & @ e Org Rsewd we
ST g ?
(A) Gas tube diode
I zg@ sHE
(B) Silicon diode
Ao s
(C) Copper oxide rectifier
atar siferamss Rvewlt
(D) All of these / & T3
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8. What energy is converted into sound energy in
loud speaker ?

o138 T A FaT A For eafey Far F
wraia gl & 2
(A) Mechanical vibration energy
AIF FIT Fam
(B) Electrical energy
Rega sat
(C) Light energy
T FaAT
(D) Heat energy
arg Far

9. Which district of the Haryana is leading in the
production of Mushroom crop ?

GFil BH & 3cdlea # RATOT F He
ar TS 3ol § 2
(A) Ambala
TFTT
(B) Karnal
EXGIE
(C) Hisar
fFER
(D) Sonipat
AT

10. Sarveshwar Mahadev Temple situated at
Kurukshetra was built by whom ?

Feard U adear #Agea Afee fraar
FoIdTIT AT ?
(A) Baba Shravan Nath
qET HEUATT A
(B) Baba Haridas
greT gRerd o
(C) Jugal Kishor Birla
SpETer TR foger A
(D) Baba Tarak Nath
6T IREATY o

11. In which district of Haryana, horticulture of

mango is not done ?
ERAUT H 3T T JeEEy fBra ooy &
g gIelr ?

(A) Yamunanagar

JHATAIN

(B) Karnal
ATl
(C) Mahendragarh
HeweoIg
(D) Kurukshetra
GRE]
12. The metric unit of magnetic field intensity is
SeHT 87 daar § ARF gHE Fr
(A) Weber
CCry
(B) Gauss
e
(C) Tesla
e
(D) Orested
HREES
13. The law which states that the induced e.m.f.

and current always opposes the cause
producing it was presented by

39 e & vfdues @l § s
FTAR IRT emf 3N e gaem s
3cUTesT &hiel dlel HROT HT Y Hid &
0

(A) Lenz
oot
(B) Faraday
LU

(C) Maxwell
Hergdor
(D) Ohm
e
14. Which one of the following single—phase
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motor perform with better power factor ?
fwifeT & @ #7 & wavs A
JEaT MRS TR @ FR A 2
(A) Universal motor
SHAYNT AleT
(B) Repulsion motor
wfmdor aex
(C) Capacitor-start motor
FAfderere Ay
(D) Capacitor-run motor

FAfReTIT Aex

15. The principle of operation of an induction—
motor is based on

WULAlY & aRare g fFa «
IreiRa § 2
(A) Faradays law
s forer
(B) Rotating magnetic field
guit Jafig aa
(C) Flemings right-hand rule
(D) Ohm's law
HH former

16. Kali Kamali Wale Baba ka Dera is at which
place in Haryana ?

ERATOT H el FHHAeN arer 6T &7 T
e T W & 2
(A) Kaithal
e
(B) Pehowa
ggrar
(O) Kurukshetra
(D) Jind

17. The longest network of Pakki roads
(developed) in Haryana is in the district

ERAVT & TR wEF i W s
TS R o 7 R 0
(A) Hisar
fear
(B) Bhiwani
Ao

(C) Kaithal
P

(D) Panipat
IGIEG]

18. The liberation of electrons from the surface
of a substance is called

(A) Bombardment of electrons
Solgglal I FHIRY

(B) Electronic emission
gATCIeih ScHolT

(C) Movement of free electrons
HAFT SATCIel T FaeleT

(D) Thermionic emission

GIEIRIEE T |
19. Same weter @ a ey 0
(A) Jpar
(B) far=i=or FaT
(C) gre @
(D) faver ear

20. Externally, the magnetic lines of force travel
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IET T H, I H YIhT A T
¢
(A) north to south
I’ & gflyor
(B) south to north
cfaior & 3cek
(C) negative to positive
fafea ¥ vioRka
(D) in both the directions
aler a3t A
21. zeoqer T el T ¥ 2
(A) greme

(B) geger
© z=fa
D) garfy

22. Contribution of which district of Haryana
during Revolution of 1857 was most ?

1857 & Hifed & gRIOT & FE oo
T ANGIT T ?
(A) Gurgaon

AV

aSIMa

9

(B) Rohtak
AgeTeh

(C) Hisar

(D) All these
¥ gl

23. When was ‘Skill India®, an initiative of the
Government of India was launched by Prime
Minister Narendra Modi ?

T g R SRAT (Pl 9RA) 9
YE T A7 A ?
(A) 21 November, 2014
21 Fds, 2014

(B) 25 September, 2014
25 f@assy, 2014
(C) 15 July, 2015
15 STelTg, 2015

(D) 21 November, 2015
21 AGST, 2015

24. An ideal current source should have
ey Fe BT § F7 g ke ?
(A) Infinite resistance
FeieT gfaiy
(B) Zero resistance
AT WicREr
(C) Infinite capacitance
37 enfar
(D) None of these
$oTH / PIg G
25. The bit of a soldering iron is made of
TresRer g & 3 (Fe) Fradr T
g g ?
(A)iron
CIH|
(B) brass
qrder

(C) copper
%)

(D) stainless steel

A H T
26. 31ToT AT T WET G FAT 2
(A) 8
(B) w1 818
©) a5 wE=t
(D) B¥er sm§

27. Which one of the following is not a reason
responsible for fire ?
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Fetfea & @ F9 @ 3mr F 1 sror
Tl & ?
(A) Wrong fuse rating
TeRT HgA X
(B) Loose connections

crel haerere

(C) Damaged insulation between the line and
neutral
qMET T Fggd F A afoeed
SRR

(D) Reverse connections in a 3—phase motor

3-%ef AR A Ra¥ wadwerer
28. Which State has the largest number of seats
in Legislative Assembly ? ,
faurd @ 7 e 5T A geww wEw
qarae § ?
(A) West Bengal
9. ST
(B) Maharashtra
HERTSC
(C) Uttar Praclesh
Foe X
(D) Bihar

foer

29. The frequency generated by a 8-pole
alternator rotating at 600 r.p.m. will be

600 rpm W gHA Tl 8-EF HeelleT
CART 3eqTfed 3ngfed fehcsr giaft 2

(A) 20 Hz

(B) 40 Hz

(C) 60 Hz

(D) 80 Hz

30. Optical fibres are based on the phenomenon
of

YRR A e afteesr w 3menRa §

(A) Interference

cafaenIoT

(B) Dispersion

gR&qur

(C) Diffraction
ICEGGE

(D) Total Internal Reflection
qot HaRF wradw
31. The perimeter of an isosceles triangle is

equal to 14 cm; the lateral side is to the base
in the ratio 5:4. The area of the triangle is

fereh arefaaTg Persr 1 oA 14 em &
SR & | 3TUR A 3HS TRE T 391 5:4
¢ | F81eT o7 8w e Rhae 7

(A) -Fl; 21cm?

e

(B) %«.ﬁ—lcmz

©) Jf21cm?
D)2 .21 cm?
32. The process of conversion from a.c. into d.c.
is called
ac. ¥ do # FUGIOT FAT FHgalldar § ?
(A) Amplification
gaeel
(B) Rectification

fasesor

(C) Modulation
Aol

=
(D) Factorization

EIYUGECER)

2

33. The tool generally used for cutting small
wires and cables when they are close to the
terminal is
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cfATe & fAde ot e art 3k et

F FeAd F BT wEak w g
3YFROT T TINT fohar Sirar & 2

(A) electrician knife
SR a1
(B) diagonal cutting plier
(C) combination plier
AR SRR
(D) scissors
ety
34. The advantage of nickel—iron cell over lead—
acid cell is this that

-t A ¥ goem F Hever-oer
AT T AT ATH & 2
(A) it has a higher efficiency.
SHH 3TT eI gt ¥ |
(B) it needs less maintenance.

$OA FH @@ A ST ot ¥
(C) it is much cheaper.

I FIHT TEAT QI & |
(D) it gives a higher e.m.f.

Ig 3T emf 3ar § |

35. You note that a d.c. motor starts with jerk
when starting the motor. What may be the
fault for this effect ?

U T & A A FS GAT de
HX Feh @ e BN §, SHAT FAT
$RUT g FHaT & ?
(A) Line voltage too high
T 3T AT dlecol
(B) Short—circuit in the field winding
AT F3o o aE-afe
(C) Pitted starter contact terminals

afda Tt #1 efieer ¥ o9&
(D) Wrong grade of carbon brushes

TSI I F Pl 2
36. The sensitivity of a voltmeter is expressed as
dleeHiey & Taeadlerar o sqeq
& ST & 2
(A) volts/ohm
drec/3NH

(B) ohm.volt
3HiA.aee

(C) 1/ohm.volt
1/30H. dree

(D) ohms/volt
HA/Aee

37. The length and breadth of a rectangular
piece of land are in ratio of 5:3. The owner
spent X 3000 for surrounding it from all the
sides at ¥ 7.50 per metre. The difference
between its length and breadth is

fohalT ITIATR sT@vs fr oS T e @
HAI 5:3 § | 3Tl 5HF e o
qREf FX 750 g M. M T RS F faw
¥ 3000 G YT & | 3T TS g e
H3arFarg?
(A) 50 m /50 #Y
(B) 100 m /100 #r
(©) 150 m /150 #

(D) 200 m /200 Y

38. Which type of resistor is used for over
voltage protection ?

I deedr e & fav f5e =g &
MASTER



AoIEeT & w2 Rear e & 2
(A) Sensitors
Afeaex
(B) Thermistors
gfieex
(C) Varistors
It
(D) Light dependent resistor

YeRTer ATETRT IeEex

39. The circuit breaker which does not contain
any serviceable part is known as

dE Hihe FF FAT Fgelldl § Toes
afaq = TIF FS gt €T ghar ?
(A) Oil Circuit Breaker (OCB)
e afhe S (OCB)
(B) Miniature Circuit Breaker (MCB)

fAfada afee 3w (MCB)

(C) Air Circuit Breaker (ACB)
TI gihe ST (ACB)
(D) Air Blast Circuit Breaker (ABCB)
TN ST Afhe ST (ABCB)
40. Choose the alternative which best expresses

the meaning of the given idiom/phrase.
To throw cold water on

(A) talk frankly
(B) to abash

(C) to ignore

(D) to discourage

41. Two of the fugitives managed to remain free
by adeptly avoiding the of the
police. (Fill in the blank)

(A) pursuit
(B) discovery
(C) following
(D) expression

42. Who was the First President of the Indian
National Congress ?

3f3Te AT FIT F gUH vemey P
&9
(A) Jawaharlal Nehru
STATE AT AEw
(B) W.C. Bennerjee
seeg A, ATt
(C) Dinshaw Wacha
feerert arar
(D) Sir Surendra Nath Banerjee
T Yooy degsit
43. Surajkund was constructed by whom ?
oS H1 AT fFad g s
Iqr AT ?
(A) Surajpal
Il

(B) Mahipal
HigaTer

(C) Hemchandra
gHEeG

(D) Harshvardhan

g¥ageT

44. In Haryana, at which place maximum number
of Iron pipes is manufactured ?

ERIOT H AR & UBY FT gaitw
fo#ToT gl grar & ?
(A) Sonipat
e
(B) Faridabad

LRI

(C) Gurgaon

LERIC]

-~
(D) Hisar

fear

45. Which river is not flowing into the Bay of
Bengal ?
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P @A T T F oyare
el gl § 2
(A) Tapi

ardy
(B) Cauvery

Il
(C) Gomati

AT

(D) Brahmaputra
ERZNE]

92

46. The type of slots used in armature of a high
voltage d.c. motor is

3T dieedl drell de. Ay & 3R &
fFe e & @Y 1 AT RBar sar §
?

(A) closed type
s S
(B) semi-enclosed type
Y Aol TFR
(C) open type with dovetail
ST ¥ WY G TR
(D) open type with tapered slot
aRe @i & AT g TR

47. Sur Samman Award’ is given to the
outstanding talent in the field of

W WA R R a7 A fRAflse
gfdsr & AT yg= fFar Smar & 2
(A) Sports
el
(B) Literature
wifgea

(C) Agriculture
FY

(D) Cinema
faaT

48. Choose an alternative which can replace the
given sentence so as to communicate the

same meaning :
The state of being unmarried.

(A) bachelorhood
(B) bigamy
(C) monogamy
(D) polygamy
9. 3 AR T W F oGEr e
fawreT Tae #T |

(A) gfrem & wgar |

(B) gYerT cqagR e |

(©) F7oe T eremant a1 ¢ |
(D) sreater forsror

50. The PTC resistor is called as
PTCfGex &1 sgamar & 2
(A) Thermistors

yffirex

(B) Varistors

aRE

(C) Sensitors
AfeweT
(D) LDR

S1. Which is not the passive components from
the following ?

ferfda & & #la @ [T ges
el g ?
(A) Resistor

Hareex

(B) Transistor

eIforeeY

(C) Capacitor
Ffix

(D) Inductor
S5FX

52. What type of core is used in a transformer
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designed to work at high frequencies (MHz
range) ?

3% AEfeTdl (MHz Iod) W &1 aer
& v Bmsa v arv gawR & frg
NG N AR HA & O Jrar & 2

(A) Aluminium core

TegAfATH FR

(B) Iron core
#ET R

(C) Air core
g PR

(D) Open type iron core
G ST FH AET HR

53. The armature of d.c. generator is laminated
to

de. IR & IR =t afRg Bar
ST & ?

(A) reduce the overall mass

AT GUATT Pl HH Fl & faT

(B) insulate core

PR HT Srgelc HA & faT
(O) reduce the eddy current loss

R YURT &1 FT &7 367 & Qv

(D) All of these
T e

- FIET TG FT HEr T FAT F 7
(A) g & g |
B) 51 Aearr |
(©) e g |
(D) sffe & g |

5S. Where Chaudhary Chhoturam was born ?

IR BIEUH HT SFoH T Hief AT § ?

(A) Kheri Sampala
QT Figer
(B) Garhi Sampala

10

T T
(C) Sanghi
Frelr
(D) Hasangarh
gde1dlg

56. Which award is given by Urdu Sahitya
Academy for excellence in Urdu Literature?

3§ WMiecd e q@rT 3 wfeer &
faRrear & v sld @1 R R
ST § 2
(A) Mirza Galib Award
ma‘rmﬁagw
(B) Urdu Sahitya Ratna
3¢ ATy Test
(C) Hali Award
gTell WEFR
(D) None of these
$oTH 0 IS A
57. Who has been crowned as the FBB Femina
Miss India World 20167

FBBGIA-T fa sfEaraes-2016 &
arerarelr frer fr a1g 2

(A) Namrata Sharma
STHdT QAT

(B) Priyadarshini Chatterjee
RragfiE desit

(C) Pankhuri Gidwani

(D) Sushruthi Krishna
A Feom

58. Which one set of letters when sequentially
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59.

60.

61.

plafed at the gaps in the given letter serjes
shall complete it ?

3T T HleT T HoAg Wrell 1=} )
T W &) 91 3ETT T Y T 391 2
_ab__b__aba___ abab

(A) abb aa

(B)bbaab

(C)abaab

(D) a aaba

Gas—discharge lamps take some time in
illuminating fully. Which of the following
lamps takes comparatively more time in
illuminating fully ?

WWTWWW@WJ#W
FFFI#T??T g ﬁmﬁ@aﬁﬁm
ﬁ?‘# T aE ¥ S 7 GEEIGEEZR )
@MFW@'&T%"

(A) Tube lamp

e oFT

p

(B) Mercury vapour lamp

FHY dW AFg

(C) Sodium va||pou+ lamp
3w dew

(D) Neon lamp

ol s

Find the odd number from the given
alternatlves

4y ?ﬂtf faweal 7 @ fava dear g |
(A) 125
(B) 789
(C) 236
(D) 347

Cho}o#e the word that best expresses the
meaning of the underlined word :

We repeatedly asked the girl why she was
crying but she said that she did not want to

entaqgle us in her affairs.

(A) entrap
(B) imﬁress

11

(C) involve
(D) induce

62. Select the correct alternative.

& [AFeT 1 79T AT |
C3F6:19L12::K11N14:?

(A)O15R 18
(B)R18U 21
© Q17120
(D)L12015
63. An emitter is generally called

3cHol @ AR W FAT FaT Sar B
N

(A) Anode
s

(B) Cathode
Uz

(C) Grid
DK
(D) Drain

=T

64. Kamla got married 6 years ago. Today her
1
age is IZ times her age at the time of

marriage. Her son’s age is (1/10) times her
age. Her son’s age is

FAET F faarE 6 ¥ T g3 | I 3T
37 366 AaE FEATH 3T Y li—ﬂm%

| 38 T T 37 36T 3 & (1/10) TR |
3AH AR 3G

(A) 2 years /2 a¥
(B) 3 years /3 9%
(©) 4 years /4 a¥
(D) 5 years /5 q§
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65. Bahadurgarh city is falls in which district of
Haryana ?

Selgele IR ERAT & frw O &
Jeclald 3T § 2
(A) Jhajjar
soiy
(B) Rohtak
UgcTh
(C) Faridabad
(D) jS{jJnipat
66. Fr]orﬁ the given alternative words, select the

word which cannot be formed using the
letters of the given word :

FAfaf@d fawedt # § a5 wse gfaT, S
RT 71T g ¥ ERT FT T F A
SelTaT ST HéhaT : REHABILITATION

(A) ALIBI

(B) BATTALION

(C) BILLION

(D) BLATANT

67. Which Rishi's abbey is situated in Asthal
Bohar ?

AT AT H Fg 7N FT A § ?
(A) Chyawan
TGl
(B) Kapil
(C) Mast Nath
HAETAY

(D) Ved Vyas
deeard
68. Famous Phalgu fair is held at which place ?
g el @ A BE WA W
IS grar & ?
A) F#lral (Kaithal)

12

e (FYe)
(B) Tarawadi
GHEE]
(C) Fatehabad
GG,

(D) Pathri
qrerRy

69. The average weight of 50 balls is 5 gm. If the
weight of the bag be included the average
weight increases by 0.05 gm. What is the
weight of the bag ?

50 J1eT T A 7R 5 gm § | IS Sy 7
goteT 3 5T enfAer [Far se at 3ira R
0.05 gm & §¢ ST & | dor & AR AT
Hfow |
(A) 5.05
(B) 6.05

. (C)7.05
(D) 7.55

70. Which of the
compounds ?

hieT O 31ThT T i ST AhelT £ 2
(A) Helium
PG

(B) Xenon
Sheter

(C) Krypton
forcera

(D) Argon
Einic)

inert gases can form
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71. The connection of a zener diode in a circuit is
always

#fdc # FR T & g amer
g &

(A)j ) series
Sofy F

(B) reverse—biased
DT I H
(C) forward—biased
RIS
(D) in parallel
HAaT &
72. Which is the State Bird of Haryana ?

SRATOT T i qelt le a1 & 2
(A) Hawk / TT5T
(B) pigeon / e
© Bl%ack Fraricolin / &relr e
(D) peacock / AR

73. The acceptor type of impurity is
VFHTER YR Y IRIRg AT & 0
(A) Phosphor

PIERT

(B) Freon

© quon

(D) None of these

gt ¥ N
74. The specific resistance of a substance
depends on

el e # QR gfoiy e 9T
R war & 2
(A) its length

ESETICEIE

(B) its cross—sectional area

13

S HAICYHIC &7
(C) its kind of material
SHN HIHIAT T YFR
(D) all the stated factors
¥ @t FRE
7S. The element used for making solar cells is
TR A & JaF & fh deq a1 ga@T
gl § 2
(A) Magnesium
IR
(B) Sodium
afsaH
(C) Calcium
Hieaas
(D) Silicon
fafesE
76. Which one of the following is called the
digestive bag in the cell ?

FIRE 7 T & T FiT o o I
(digestive bag) FgelTar & ?
(A) Golgi body
Mot S
(B) Mitochondrion
ATgIhITUZAT
(C) Ribosome
SEEIR: o)

(D) Lysosome

ASEIAT

77. Impurities in an electrolyte can cause an
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internal short—circuit condition called
gaiFgierse A OIRIfEET ¥ @ areh
IR are-afie Rufy Far Fgay &

(A) depolarization

fatrqur

o |
(B) electrolysis
(C) local action

A T

(D) polarization
eIquT

]

78. The festival of Makar Sankranti comes in the
month of

HAFHT Toplfed ud fFg 78 & smar & 2

(A) January
STeradr

(B) February
LRGE

(C) December

gt

(D) March
A

79. The couple performing Inter—caste marriage
in Haryana is paid an amount of

Iedady fJae Fet aer grafea &
ERAVT A fohcdelr TRY & S & 2
(A) one lakh rupees
U+ AT
(B) seventy—five thousand rupees
Y Tdgccl oI
(C) fifty thousand rupees
UAOTH gk
(D) no grant
HIG Igare el
80. Which milch animal is known as “Black Gold®
in the Haryana ?

fhe guRe 9y H ERIOT H C Hem

14

AT ST ST & 2
(A) Neel Guy
sitel I
(B) Murrah Buffalo
it
(C) Black colored cow
el 13T Y I
(D) Goat
CET)
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